HAH :2014/9/11 10:13

VR26EIA E RERREILVT RS

BEEAEH H 120144209 H10H (k)

FAZ N S N WRNYT S0, 0 £etB0. 0
BTk T UE=NT Rfpe - 1 - 2 9°C - 2m/s
fifl=—=  :0UT IN S AEK BRI RO ARFI2IA
BT EHFE T 4 A4ERAH
NEAT ZINE K4 ouT IN  GROSS HDCP NET  GROSSMfi: 55 JIEAL ZINE K4 TOUT IN  GROSS HDCP NET  GROSSIfiL i % NET ZINE K4 ouT IN  GROSS HDCP NET  GROSSIEfZ i &
1 YR BB 49 50 9936.2 62.8 51 ik = 44 44 88 15.0 73.0 101 [0 F52 41 49 90 7.9 82.1
2 (A FniE 39 40 79 14.8 64.2 52 HFf BEF] 49 51 100 26.9 73.1 102 8 JEE& 49 43 92 9.3 82.7
3 E FEE 43 46 89 23.9 65.1 53 HREE g 43 48 91 17.8 73.2 103 LR, —5& 49 49 98 14.5 83.5
4 JINFR TEBH A7 44 91 25.7 65.3 54 HH TEIRER 46 47 93 19.8 73.2 104 A)1| 3B 56 53 109 25.3 83.7
5 A &R 44 40 84 18.4 65.6 55 fEt IE#% 46 53 99 25.8 73.2 105 it R 51 57 108 24.2 83.8
6 PHH R 50 47 97 31.1 65.9 56 HLH Fo 40 42 82 8.7 13.3 106 HH FKE 56 48 104 20.0 84.0
7T # 39 39 78 11.8 66.2 57 FH If 47 43 90 16.2 73.8 107 it HE 43 58 101 16.6 84.4
8 B 1=fE 47 45 92 25.8 66.2 58 =)Il 1E 48 45 93 19.2 173.8 108 &4l 1EH] 48 49 97 12.5 84.5
9 = =} 43 42 85 18.7 66.3 59 KA {8 46 48 94 20.1 73.9 109 BHIL 15 48 51 99 14.4 84.6
10 ikl FAFEER 45 37 82 15.3 66.7 60 & E 5LE 44 50 94 19.7 74.3 110 =15 i 49 51 100 15.3 84.7
11 AR & 48 42 90 23.3 66.7 6l = = 48 48 96 21.7 74.3 111 BA A 49 46 95 10.0 85.0
12 &5 il 46 44 90 23.3 66.7 62 YL &l 38 43 81 6.6 74.4 112 & R BABL 56 53 109 22.2 86.8
13 B P& 38 38 76 8.5 67.5 63 #2110 & 44 43 87 12.6 74.4 113 b =% 52 53 105 17.3 87.7
14 7Ry Rt 38 43 81 13.5 67.5 64 MR 72— 46 44 90 15.6 74.4 114 B ZFE& 54 51 105 15.4 89.6
15 HH ik 44 45 89 21.4 67.6 65 B 5L 48 57 10530.4 74.6 115 BEAR BIR 47 54 101 10.4 90.6
16 WL 5E 43 41 84 16.0 68.0 66 [H 2= 39 43 826.7 75.3 116 B O #3HE 49 62 111 19.6 91.4
17 1R 55 38 45 83 14.7 68.3 67 HIL B 43 46 89 13.6 75.4 117 FHe JEF] 57 53 110 17.8 92.2
18 KR #HB 41 45 86 17.7 68.3 68 PHH & 46 50 96 20.5 75.5 118 M8 5 — 54 64 11823.9 94.1
19 /NE iR 38 43 81 12.3 68.7 69 WL FEH] 45 47 9216.3 75.7 119 [P H2 58 59 117 19.2 97.8
20 SCHC i 44 48 92 23.3 68.7 70 dEH: EER 45 43 88 12.0 76.0 s B [E]AL
21 R =AM AT A7 94 25.3 68.7 71 BHiL % 50 51 101 24.9 76.1 ekt RN BEE
22 ZiE 1% 47 49 96 27.0 69.0 72 /KR BBk 47 56 103 26.9 76.1
23 JLA AT 40 39 79 9.8 69.2 3 = 46 46 92 15.6 76.4
24 TN BB 39 42 81 11.6 69.4 74 R —5% 46 45 91 14.4 76.6
25 Hil #E 41 45 86 16.6 69.4 75 AH R 46 53 99 22.3 76.7
26 BEJI| 2 52 41 93 23.4 69.6 76 )l BE 46 49 95 18.2 76.8
27 fiF B 45 45 90 20.3 69.7 7T EHH OaLE 51 53 104 27.0 77.0
28 53 ZE=HR 48 47 9525.3 69.7 78 Al S 41 46 87 9.7 71.3
29 A B 45 40 8515.0 70.0 79 JRH F5kE 49 52 101 23.7 77.3
30 FEH s 43 43 86 16.0 70.0 80 Hii IE[E 50 48 98 19.7 78.3
31 /NAEE INTE 40 39 79 8.8 170.2 81 AA Fnaf A7 46 93 14.6 78.4
32 K ik 46 41 87 16.8 70.2 82 K i 39 46 856.4 78.6
33 JTHF ¥ 42 48 90 19.1 70.9 83 JLy KK 50 43 93 14.4 78.6
34 fnH JA 44 44 8817.0 71.0 84 il HIk 48 48 96 17.0 79.0
35 &l 1% 38 46 84 12.9 T1.1 85 [MA 49 55 104 24.9 79.1
36 ZHMH FEH 45 41 86 14.9 71.1 86 =ifE HiEZ 44 42 86 6.8 79.2
37 $nk FER 43 42 85 13.4 71.6 87 R it 43 40 83 3.6 179.4
38 ¥ EMF 43 42 8513.4 71.6 88 L& HE1T 55 47 102 22.5 79.5
39 KiH FnzE 41 47 88 16.4 71.6 89 BFiE Brol 46 48 94 14.4 79.6
40 FLBE 5T 41 42 83 11.3 71.7 90 HH & 41 52 93 13.2 179.8
41 bW EH 45 52 97 25.2 T71.8 91 KB IFF 52 54 106 26.0 80.0
42 FEfE F# 5 47 42 89 17.0 72.0 92 FAJR 46 54 100 19.9 80.1
43 Z% fd— 45 45 90 18.0 72.0 93 8 B 48 53 101 20.8 80.2
44 ZER TG 48 48 96 24.0 72.0 94 By B 49 48 97 16.7 80.3
45 FEFT ik 43 44 87 14.9 712.1 95 FFH E1E 54 48 102 21.6 80.4
46 fiREL 2 46 46 92 19.7 72.3 96 I B 50 53 103 22.2 80.8
47 IR 15 43 49 92 19.4 72.6 97 TR E— 46 48 94 12.7 81.3
48 1EY; HEIE 47 46 93 20.4 72.6 98 ¥ F BEE 49 49 98 16.7 81.3
49 ERE RE 40 42 82 9.1 72.9 99 {RBF i 49 49 98 16.4 81.6
50 J]HEH |k 46 40 86 13.0 73.0 100 y 1ER 49 46 95 13.3 81.7

1/ 1 EEFERRINIHVZT



